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3. 	di rt ' 	tcA tiz-DE3A).  
John, a wood-cutter worked for a company for 
five years but never got a rise. The company hired 
Bill and within a year he got a rise. John was 
disappointed and he went to his boss to talk about 
it. The boss said, you are still cutting the same 
number of trees you were cutting five years ago. 
We are a result oriented company and would give 
a raise only when your productivity goes up. 

John went back, started hitting harder and 
putting in longer hours but he still was not able 
to cut more trees. Then John goes to Bill and asked 
him as to how he managed to cut more trees. Bill 
answered, "After every tree I cut, I take a break 
for two minutes and sharpen my axe. When was 
the last time you sharpened your axe ?" This 
Question hit John like a bullet and John got his 
answer. 
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